Possible Solution
Complete the following and use a place value model or a number line to explain your answer.

a) 10 more than 39is .

Adding 10 to 39 makes 49.

b) 1lessthan 24is .

Subtracting 1 from 24 makes 23.

c¢) Find a number that is more than 103 and less than 120.
117 is more than 103 because there are 7 ones but it is less than 120 because in 117
thereis 1 ten.
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d) Find a number thatis more than 89 and has a 9 in the tens place.

99 is more than 89 and there 9 tens in the tens place.




